3.2 - Using Vectors on Motion Diagrams

(1.) A car travels along the road shown below with a constant speed. Draw a
picture resembling Examples 3.2 and 3.3 from the textbook by following
the procedure below.

e Draw a motion diagram with four separate locations of the car.
e Draw the car’s three average velocity vectors, 70, 71, 72

e Below the picture, use your preferred method to draw the two
, — —
change in velocity vectors, Avy; = ?1 — 70 and Avy = 72 - 71

e At points 1 and 2 on your motion diagram, draw the car’s average
acceleration vectors. Assume that the elapsed time between points

on the motion diagram is 0.5 s.
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CHAPTER 3, SECTIONS 3.1-3.2

3.1 - Using Vectors

= =
(1.) Using graphical addition, draw and label the vector sum R = A + ﬁ
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(2.) Using graphical addition, draw and label the vector sum R=RA + ﬁ +
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(3.) Using the vectors from the previous example, draw and label the vector

§=X+%§+38.
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(4.) A man leaves his house and walks 50 m due north. He then walks south-
west 75m. Finally, he walks 150 m east. By drawing his displacement
vectors using a ruler and protractor, estimate how far the man must

walk to get back to his house.
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(5.) Using your preferred method, find the vector difference D-24- B
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(2.) Repeat the previous procedure, but now assume the car is increasing

speed as it goes along the road.

Draw a motion diagram with four separate locations of the car.
Draw the car’s three average velocity vectors, 70, 71, 72

Below the picture, use your preferred method to draw the two
ey —
change in velocity vectors, Av; = 71 - ?0 and Avy = 72 - 71

At points 1 and 2 on your motion diagram, draw the car’s average
acceleration vectors. Assume that the elapsed time between points

on the motion diagram is 0.5 s.
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